Answers to Review 402
1)  Yes, second differences are constant
2)  R:  {16, -2, 16}


3) A:  Domain is all real numbers; Range is y ( 5    B:  Domain is all real numbers; Range is y ( -5

4) Axis of Symmetry is x = 1, Two Solutions           5)  Axis of Symmetry is x = -2, Two Solution 

6)  Example Table, graph not shown

7)  Graph not shown, possible equation for 



second graph f(x) = 2x² - 4 (the “a” 



number would have to be larger than



0.5 and the “c” number is -4.

8.  Domain: 0 ( x ( 65;  Range: 0 ( y ( 9       9. The parabola opens upward  
10. The parabola will translate down 4 units   11.  g(x) is narrower than f(x); or f(x) is wider 






                 than g(x)

12.   f(x) = 

[image: image1.wmf]2

3

x


  13.  (one of many possible answers)   14. 
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	x
	-2
	-1
	0
	1
	2

	y
	6
	4.5
	4
	4.5
	6


15.  2.5 seconds        16.   100 feet   
17.    5 seconds


18.   Domain: 0 ( x ( 5;  Range: 0 ( y ( 100
19.    25 meters      20.  {0 , 6}


21.   The time in seconds at which the rocket was zero meters in the air (before being shot off and when landed).
22.   The height from which the dummy was launched off the building. 23.  Two seconds; 45 feet
  24.   5 seconds
           25.  40 feet                  26.    maximum, 9 27.   {-1 , 5}, negative
       28.    minimum, -5
            29.  {9 , -9}
                   30.  {-6 , 5}
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